EASE® 5 SQUANE

500 SHEETS, FILLEH 5 SQUARE

381 50 SHEETS EYE-EASE® 5 SQUARE
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Problem C

Considen +he -?ollown‘n; quh'aﬂg "\o\-mogeneoa.: defor mation

of a matevial, . l><
, oticg: Copita .
vl N ([owatcase ' L ‘

x. . . .
/ / 2, = S X, + > Xy sin
[ /
y / / X, = 8 Xz cos ¥
/ .
—\/ / Xz = B X;
/ E zdoasor
/ / N @xampl
. L g, earl
a) Frnd the ngquamw strarn +ensor, E) andd the
small  strain teasor €, in terms of §5,8&, ¥.
b .
by For S§= /.¢¢, LE&=IS5S , ¥ =30

) Petermne €g for a differentral vector

N = ,.Jii (e +€2) Usia fravte strain anel small

strarm +ewnsor calculations,

tv') Determine the angle change, for two
Aiffevential vectors oviented as

N'=¢g, ¢ NT= ey T
Using finrte strain ov\lg.

ce) Petermine the angle chqn%e,) Ae) fov
two drffevential vectors oriented as

M':g‘ ) N. =¢,

Wesing Finite stram as well as the swmall
streain qPFra:uquon 3|‘ven bg

AG=NI’€&;
’\,.

(v) Determine the volumetric stram for £inite stram
and small strain i’heowa.

c) Repeal (b)Y For §=1.04 8= 1023 6= 2°.

J

Cawtiovl; Watcl vpper and lowercase petation
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